W79 =H)LFT—4 / Technical Datall

#E{ThILY / Recommended torque : 0.3N=m ~ 0.6N*m

BIZFE / Product Number

AUH : :

H~Fi% W-Ti& D~F%

H dimension W dimension D dimension

INUFRJLAERR / Handle type

INURILBALT (N / K)

Handle type (P or H)

ﬁ

ﬁ

®
S

@ fR%E / Normal type

4% / Key-lock type

ik

Color Type

HERINZ / Components

No. & %R / Part name #E / Pcs #ME / Material & - RELIE / Color+Finish
. a—F—J8avy 4 TIVEF A Fv X+ ADC12 DIN— TS FE (NEENE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) R 4 TILEHH T A6063S-T5 DILIN— » TILRAY )T B
Frame Extruded aluminium A6063S-T5 Silver = Anodized with clear coating
3 FBAN/ N — : 7ILE4R A1100P DILIS— - TILRA+
Open—closing panel Aluminium A1100P Silver * Anodized
A Thii— | 7 JLEHR A1100P DIIS— - TILIAH
Bottom cover Aluminium A1100P Silver * Anodized
5 FENUFIVERE / BE 1set B A v DILIN— - FE
Flat handle (Normal / Key lock) Diecast zinc Silver = Painted
6 EvY Tset A A F v R DIN— - FE&
Hinge Diecast zinc Silver = Painted
; ER{FE R (M3 x 8) 1 % =LAy E
Screw (Flat head M3 - 8) Steel Nickel plated
8 BAER (B#M3 x 5) 8 % ZTILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated

& 1t%k / Color Type
2% / Code | a—4—TJ 0% / Corner block {BI#R / Frame $H/3— / Top cover | BE//3— / Open—closing panel
Ss < JLsN— / Silver < JLsN— / Silver < JLsN— / Silver < )LsS— / Silver
S B 75974 / Black 2 )L1S— / Silver 2 JLsS— / Silver < )LsS— / Silver

7
8
&
5
2
3 a
4
a
6
4/ Title
TAKACHI| BXEH4DhFERIE BEARX7/)LIavka— LRy IR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing aluminium control box
&R/ Approved #%[X]/Checked &[] /Created & /Product number RE/Scale
iR £ A AUH115-43-601 00 p v
{ERX B /Date 2025/07/02 1/ 6

AREDEFIEIHRXESHIDTFER T EIZRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

600+0.8 (r— R4\ / External)

A-A(1:85)

™
(=]
423
E view
A view
<— B
A
r
(I
A A
l<— B

F view

430+0.8 (s —RA4}\ 2 / External)

C view

115+0.3 (r— A4} M iz / External)

B-B(1:85)

(87.2)

 J

108.3

593

BASHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
X7/ avbO—ILiRy IR

Open-closing aluminium control box

]
-

O

A& 8/ Approved

iR

#%[X]/Checked

£

#1[X]/Created

fi] A

R /Product number

AUH115-43-6001 11

RE/Scale
1:8.5

YERLH/Date 2025/07/02

R—/Page

2 /6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A ¥R / A Frame

380

114

14
o

M3
o 2-M3FHY SR
2-M3 Countersunk

¥ RxtmE+ R4k / Same on the other side.

@ / Front side

B {l#k / B Frame

E . £z \3
3 %)

M / Front side

107.7

22.5

2.5

3.3

3.3

Z | / Back side

ZZ[@ / Back side

4/ Title
TAKACHI| BXEH4hFERIE {81 @} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale
1:3
iR £ FiE:N R—/Page
H115 — W430 {ERX B /Date 2024/07/25 3/ 6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

550

114

14

M3
2-M3FAHSR
2-M3 Countersunk

& / Front side X Rt EE 4k / Same on the other side.

D {81#% / D Frame

T ———

M / Front side

107.7

22.5

2.5

33

33

]
I E—

ZEM / Back side

]
I E—

%M / Back side

4/ Title
TAKACHI| BXEH4hFERIE {81 @} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale
1:4
iR £ FiE:N R—/Page
H115 - D600 {ERX B /Date 2024/07/25 4 /6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4194

4-R14.7 400 6 ons ,

A#ti% / Max dim. 553+0.8

<
: o
3 5
REL—MMAY
Surface protective film side
\ / \ /
A~ti% / Max dim. 383%0.5
@ / Front side ZEM / Back side
4/ Title A —
. A .
TAKACHI| BASHIAFEHRIX THhin— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
1:4
iR £ fiE) A ~R—Y/Page
W430 - D600 {ER B /Date 2024/03/29 5/ 6
AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




0
w
©w
[fe}
D
[o0]

©

~

(o]

w0
I
(2]
[oe]
[Tl
[fe)

2-R138

417.6

400.4 17.2
e
D6.05 30 oo
oo
2ol
L
oo
N B
17.3 Bxh~t3% / Max dim. 38105

Z M / Front side

25.5

261.8

19.5

255.3

255

B TiE / Max dim. 553+0.8

e

_°

X / Back side

4/ Title
TAKACHI] #StahFEHTE BERE A/ — O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing panel
A& 8/ Approved #%[X]/Checked #[X]/Created I Z /Product number RE/Scale
1:4
iR £ fiE) A ~R—Y/Page
W430 - D600 {ERX B /Date 2025/04/25 6 / 6

AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




